=t — IR FER (ax+by+cz=d)

3x+5y+4z=>54
Sx+3y—3z=17
Ix+3y—2z=—-4

S 3 —6y+52=33

2x+ 3y +4z =31
6x—2y+3z=155

4x+ 3y +4z =36
2x+ 2y +6z=32
6x—2y—5z=-5

6.

H #A:

dx+ ly—4z=1
Ix— 6y —4z=-21
4x— Sy +4z=35

Sx—2y+1z=28
4x+ 6y — 1z = 38
6x + S5y — 6z =27

6x+ S5y + 6z =88
6x—2y—1z=-10
S5x+ 1ly+4z=42
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=t — IR TR (ax+by+cz=d)

3x+5y+4z=>54
Sx+3y—3z=17
Ix+3y—2z=—-4

N %
I
~N —

3x—6y+5z=33
2x+ 3y +4z =31
6x—2y+3z=155

N =
I
W — o0

4x+ 3y +4z =36

2x+ 2y +6z=32
6bx—2y—5z=-5
x=3
y=4
z=73

H - o/ GO

dx+1ly—4z=1
lx— 6y —4z=-21
4x— S5y +4z =35

N e =
I
DN — W

Sx—2y+1z=28
4x+ 6y — 1z =38
6x + S5y — 6z =27

N =
I
H~ L

% 6x+5y+62=88
6x—2y—1z=-10
Sx+ 1y +dz =42

2

N
I

8
6
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